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𝐸𝑉 =
1
6 10 +

5
6 −3 =

10
6 + −

15
6 = −

5
6.	
  

	
  If	
  the	
  expected	
  value	
  is	
  positive	
  you	
  should	
  play	
  because	
  even	
  though	
  you	
  can	
  lose	
  

sometimes,	
  you	
  will	
  make	
  money	
  in	
  the	
  long	
  run.	
  If	
  the	
  expected	
  value	
  is	
  negative	
  

you	
  should	
  not	
  play	
  because	
  you	
  can	
  still	
  win	
  money	
  but	
  you	
  will	
  lose	
  money	
  in	
  the	
  

long	
  run.	
  So	
  in	
  this	
  case,	
  you	
  should	
  not	
  play.	
  

	
  
Here	
  is	
  another	
  situation.	
  In	
  a	
  jar,	
  there	
  are	
  11	
  blue	
  dice	
  and	
  16	
  red	
  dice.	
  

If	
  you	
  pick	
  out	
  a	
  blue	
  die,	
  you	
  lose	
  $15	
  

If	
  you	
  pick	
  out	
  a	
  red	
  die,	
  you	
  win	
  $11	
  

Should	
  you	
  play?	
  

𝐸𝑉 = %  𝑜𝑓  𝑊𝑖𝑛𝑛𝑖𝑛𝑔 𝑃𝑎𝑦𝑜𝑢𝑡 + (%  𝑜𝑓  𝑙𝑜𝑠𝑖𝑛𝑔)(𝑐𝑜𝑠𝑡) 
	
  
Let’s	
  substitute;	
  
	
  
𝐸𝑉 = (!"

!"
)(11)+(!!

!"
)(-­‐15)=!"#

!"
+ !!"#

!"
= !!

!"
	
  

	
  
You	
  should	
  play	
  this	
  game	
  because	
  the	
  expected	
  value	
  is	
  positive.	
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